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Read the following instructions carefully before you begin to attempt the questions.
INSTRUCTIONS TO CANDIDATE

(1)  This booklet contains 100 Questions in all comprising the following Three parts.
Part-(I) : General Science & General Awareness (45 Questions)
Part-(ll) : Mathematics (25 Questions)
Part-(lll) : General Intelligence and Reasoning (30 Questions)

(2) All the questions are compulsory and carry equal marks.

(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages and
find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced immediately.

(4) Each question carries negative marking also as 1/3 mark will be deducted for each wrong answer.

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll num-
ber, Test name/ld and name of the examination on the Answer-Sheet carefully before you actually start attempting the
questions. You must also put your signature on the Answer-Sheet at the prescribed place. These instructions must be
fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be awarded ‘ZERO’ mark.

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the relevant
question number by Black/Blue ball pen only.

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ different
from the information given in the application form, the candidature of such candidate will be treated as cancelled.

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be
deemed fit.

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not
spend too much time on any question.

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms. Candidates
are advised not to keep mobile phones/any other wireless communication devices with them even switching it off, in
their own interest. Failing to comply with this provision will be considered as using unfair means in the examination and
action will be taken against them including cancellation of their candidature.

(12) No rough work is to be done on the Answer-Sheet.

(13) No candidate can leave the examination hall before completion of the exam.
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General Science & General Awareness

With reference to the cultural history of India, the term
'Panchayatan’ refers to?

(A) An assembly of village elders

(B) Religious sect

(C) A style of temple construction

(D) An administrative functionary

Kattaiikkattu is the famous folk drama of which state?
(A) Andhra Pradesh (B) Bihar
(C) Rajasthan (D) Tamil Nadu

Which of the following Kingdoms were associated with
the life of the Buddha?

1. Avanti 2. Gandhara 3. Kosala 4. Magadha
Select the correct answer using the code given below.
(A)1,2and 3 (B)2and 4

(C) 3 and 4 only (D)1,3and 4

Consider the following statements:

1. Aihole Inscription is ascribed by Pulkeshin II.

2, “Tamso Ma Jyotirgamaya” ” Lead us from

Darkness to Light”, this comes from Brahadaranyaka
Upanishadas.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. Mudra Rakshas is a work of Vishakhadutta. This work
was depicted mauryas and Nandas.

2. Yajnavalkya Smiriti is considered to be the official law
book of the Guptas.

Which of the statements given above is/are NOT correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Which environmental phenomenon is causing the
meltdown of Tibetan plateau that may affect the Indus
River in the future?

(A) Climate Change
(C) Ozone depletion

(B) Drought
(D) Green house gas effect

Consider the following statements:

1. Dampa tiger reserve: Mizoram

2. Gumti wild life sanctuary: Sikkim

3. Nagarhole National Park: Kanataka

Which of the statements given above is/are correct?
(A) 1 only (B) 1 and 2 only

(C) 1 and 3 only (D)1,2and 3

Consider the following statements:

1. Bhadra Wildlife Sanctuary: Maharashtra

2. Periyar National Park: Kerala

3. Tadoba Tiger Reserve: Karnataka

Which of the statements given above is/are correct?
(A) 1 only (B) 2 only

(C) 1 and 3 only (D)1,2and 3

Which of the following is the first country in the Middle
East region to dismantle the “kafala” sponsorship sys-
tem?

(A) Qatar

(C) Saudi Arabia

(B) UAE
(D) Oman

Which one of the following pairs is correctly matched?
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Bhakti Saint Philosophy
(A) Shankara Avadhuta
(B) Ramananda Keval Advaita
(C) Ramanuja Vishishtadvaita
(D) Chaitanya Advaita

Which Prime Minister was able to return to power after
completing a full five year term, after Jawaharlal Nehru?
(A) Indira Gandhi (B) Lal Bahadur Shastri

(C) Rajiv Gandhi (D) Manmohan Singh

In Lal bahadur Shastri's cabinet, at what position was
Indira Gandhi first appointed?

(A) Railway

(B) Defence

(C) Information and broadcasting

(D) Finance

Under whose Prime ministership was the Nagar palika
Bill passed?

(A) Morarji Desai
(C) Rajiv Gandhi

(B) Indira Gandhi
(D) Lal Bahadur Shastri

When did the Right to Information Act came into force in
India formally?

(A) 8 October 2005
(C) 8 November 2005

(B) 12 October 2005
(D) 12 November 2005

Consider the following statements:

1. The parliamentary government is also called the
cabinet government or responsible government or
government of Westminster.

2. It is popular in UK, Japan, and Canada etc.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Which is the first bank established in India?
(A) Bank of Maharashtra  (B) Bank of Hindustan
(C) State bank of India (D) Panjab national bank

Consider the following statements:

1. Demonetization in 1978 was done by Congress party
government.

2. Demonetization in 2016 was done by BJP party
government.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

When is the National Education Day observed?
(A) 8 November (B) 9 November
(C) 10 November (D) 11 November

What term is used to define the total number of people
of different age groups in a region?

(A) Sex ratio (B) Age composition

(C) Adolescent population (D) Occupational Structure

Which is the first bank to provide internet banking facility
in India?
(A) ICICI
(C) Axis

(B) SBI
(D) Bank of Maharashtra

The black board seems black because it
(A) Reflects every colour
(B) Does not reflect any colour
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(C) Absorbs black colour
(D) Reflects black colour

What is the speed of light?

(A) 280,000 kilometers per second
(B) 299,792 kilometers per second
(C) 320,000 kilometers per second
(D) 380,000 kilometers per second

Two system are said to be in thermal equilibrium, if and
only if

(A) There can be a heat flow between them even if they
are at different temperature.

(B) There cannot be a heat flow between them even if
they are at different temperature

(C) Their temperatures are slightly different

(D) There is no heat flow between them

A mobile phone charger is
(A) An inverter

(B) An UPS

(C) A step-down transformer
(D) A step-up transformer

Consider the following statements:

1. CMOS stands for Complementary metal oxide
semiconductor.

2. In flowcharts, symbol of rectangular is used to
represent operations on data.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

The process of turning gas into the liquid is called :
(A) Condensation (B) Evaporation
(C) Deposition (D) Sublimation

What is the full form of CNG?
(A) Converted Natural Gas (B) Compressed Natural Gas
(C) Conducted Natural Gas (D) Composed Natural Gas

Consider the following statements:

1. Marie Curie wins her two different Nobel prizes in
Chemistry and Medicine.

2. Gamma rays have unit mass and zero charge.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. The alpha particle is double positively charged helium
nuclei.

2. Starch iodine paper is used to test for the presence of
oxidizing agent.

Which of the statements given above is/are NOT correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:

1. In Castner’s process, metallic sodium is prepared by
electrolysis of molten NaOH.

2. Sodium is used in yellow light lamp.

Which of the statements given above is/are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements:
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1. Botanical name of Lotus is Nelumbium speciosum.

2. Botanical name of Pomegranate is Punica granatum.
Which of the statements given above is/are NOT correct?
(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

Which of the following is a botanical name?
(A) Wheat  (B) Rice (C) Mango (D) Grapes

The outer surface of the animals is made up of which of
the following tissues?
(A) Epithelial tissue
(C) Adipose tissue

(B) Connective tissue
(D) Muscular tissue

Most of the part of vertebrae heart wall is made up of
which of the following muscles?

(A) Striped muscles (B) Unstriped muscles

(C) Cardiac muscles (D) nervous tissue
Which one of the following Hormones is called
'Emergency Hormone'?
(A) Adrenaline

(C) Thyroxine

(B) Insulin
(D) None of the above

Permanent Account Number (PAN) comprised of how
many alphanumeric digit?
(A) 6 (B)8 (C) 10 (D) 12
Kartarpur City is situated on the banks of which river?
(A) Sutlej (B) Ravi (C) Beas (D) Indus

Reko Dig mine is located in which country?
(A) India  (B) Pakistan (C) Indonesia (D) Japan

What is the approved Minimum Support Price (MSP) for
raw jute (TD-3 grade) for the agricultural marketing sea-
son 2025-267?

(A) %5500 per quintal
(C) %5650 per quintal

(B) %5600 per quintal
(D) %5700 per quintal

Who won the men’s singles title at the 2025 India Open
Badminton Tournament?
(A) Lee Cheuk You
(C) Kento Momota

(B) Viktor Axelsen
(D) Anthony Ginting

What is India's rank in the Global Firepower Index 20257?
(A) ond (B) 3rd (C) 4th (D) 5th

Freedom fighter Veer Surendra Sai, whose 217th birth
anniversary was celebrated on 23rd Janury 2025, was
born in which Indian state?
(A) Bihar

(C) West Bengal

(B) Jharkhand
(D) Odisha

Which organization has been awarded the Subhash
Chandra Bose Aapda Prabandhan Puraskar for 2025 in
the Institutional Category?

(A) Indian National Centre for Ocean Information Ser-
vices

(B) National Disaster Management Authority

(C) National Institute of Disaster Management

(D) Indian Meteorological Department

What is the theme of the DRDO Tableau at the 76th
Republic Day Parade 2025?

(A) Raksha Kavach - Multi-layer Protection against Mul-
ti-domain Threats
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(B) Bharat Shakti - National Defence Strength

(C) Defence Archieves - Innovations in Defence Tech-
nology

(D) Defence Achievements - Strategic Military Ad-
vancements

Which US-based defence technology company has JSW
Defence partnered with to manufacture the 'V-BAT' Un-
manned Aerial System (UAS)?

(A) Lockheed Martin (B) Boeing

(C) Northrop Grumman (D) Shield Al, Inc

The HCF of two numbers is 6 and their LCM is 432. If
one of the numbers is 48, then the other is

(A) 54 (B) 36 (C) 32 (D) 27
7746 -2 + 3255 = 1391
(A)9610  (B)9310  (C)9510 (D) 9160

A trader brought a bag of 80 kg of Toor dal at Rs 62.5
per kg and another bag of 120 kg of Moong al at Rs
75per kg. He sold the entire stock at a profit of 40 %.
Find the selling price per kg.
(A) 98 (B) 150 (C) 102 (D) 112

The mean of 41 values was 52. But a value was written
as 75.6 instead of 116.6. The corrected mean is.

(A) 53 (B) 51 (C) 42 (D) 53.5
What least number should be added to 1485 to make it
divisible by 31 exactly?
(A) 1 (B) 2 (C)3 (D) 4

Ram, Rohan and Ravi invested in the ratio of 0.5, 0.75,
and 1.25 respectively. If Rs 32000 is the total profit
earned at the end of the year, then what is the share of
Rohan?

(A)Rs 4800 (B)Rs 1200 (C)Rs 2400 (D) Rs 9600

Direction (52-54): Study the table and answer the questions:

52.

53.

54.

55.

The table depicts the pattern of rainfall for Chennai and
Bangalore over 3 months.

Chennai | Bangalore
July 437mm | 562mm
August 50Imm 521Imm
September | 490mm | 573 mm

What is the average rainfall in Bangalore over these 3
months?
(A) 551 (B) 552 (C) 561 (D) 553

The total rainfall over Bangalore is how much more than
that of Chennai (in mm)?
(A) 288 (B) 228 (C) 238 (D) 278

The sum of the highest rainfall in Chennai and lowest
rainfall in Bangalore is
(A) 958 (B) 1022 (C) 1052 (D) 1163

If A, B and C invested money in the ratio 4:3:5. If A in-

vested for 1 month and both B and C invested for 2
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months each, then find the ratio in which they will share
the profit?
(A) 2:3:5 (B) 3:2:5 (C)4:3:5 (D) 4:6:5

The HCF of two numbers is 6 and the two other factors
of LCM are 11 and 13. Find the smaller of the two
numbers.
(A) 33 (B) 66 (C) 39 (D) 15
Ambika and Arun can do a work in 13 days. If Ambika
alone can do it in 39 days, Arun can do it how many
days?
(A)26 day (B) 19.5day (C)6.5day (D) 20 day
92 Cos (6 - 11/2) + 93Sin (6 + 11/2) — (93sin6 + 92Cos 6)
(A) cos 6 —sin 6 (B) sin® —cos 6

(C) sin 6+ cos 6 (D) cot 6 — tan®

P can finish 33.33% of a work in a day. Q can do
16.67% of the work in a day. Both of them together will
finish the work in how many days?

(A)2days (B)20days (C)1.5days (D)4 days

Find the fourth proportional to 9.1, 1.3 and 17.5.
(A)5 (B) 2.5 (C)2.45 (D) 1.35

Sedan and Benz start at the same time in opposite side
at speeds 63.75 kmph and 81.75 kmph. Find the
distance between them after 5 minutes.
(A) 1500 m  (B) 2000m (C) 1350m (D) 2350m

If the side (r) of an equilateral triangle is increased by
16.67%, find the difference between the areas of the old
and new triangle.
(A) (13V3)/128 r2
(C) (133)/144 r2

(B) (133)/136 12
(D) (13v3)/144 s2

The average ages of parents and two children are 28
years and 18 years respectively. The average age of the
family is

(A) 16 years (B) 23 years (C) 24 years (D) 21 years

A student scored 550 marks in 6 subjects. The maxi-
mum marks for each subject was 100. What was his
score in percentage terms?
(A)92.18% (B)91.67% (C)90.54% (D) 90.67%
An article was sold for Rs 3900 at a discount of
25%.Find the selling price if the discount was 37.5%.

(A) Rs. 3250 (B) Rs. 3650 (C) Rs. 3520 (D) Rs. 3750

A train of length 1.85 km crosses a pole in 0.05 hr. Find
the speed of train in m/s.
(A) 10.2m/s (B) 10.22 m/s (C) 9.36 m/s (D) 10.12 m/s

A man deposits Rs 1300 at the beginning of each year
for 2 years at 20% p. a compound annually. Find the
maturity value at the end of the 2nd year.

(A) Rs 3432 (B) Rs 3232 (C)Rs 3532 (D) Rs 3434

If the arithmetic mean of 20 numbers is 45 and each
number is decreased by 3 and then multiplied by 1.5,
find the mean of the new set of numbers.

(A) 63 (B) 54

(C) 62.5 (D) Cannot be found.
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69. The difference between the length and breadth of a 77.  What is the shortest distance between point P and Q?
rectangle is 15m. If its perimeter is 134 m then its area is (A) 4 (B)5 (C)7 (D) 10
(A) 1056 m? (B) 1606 m? (C) 1066 m? (D) 1666 m?
78. In whice direction is point Q with respect to point P?
70. The price of 7 pens is equal to 22 pencils. The cost of 28 (A) North-East (B) South-West
pens and 3 pencils is Rs 364. Then find the cost of 1 (C) North (D) South
pencil.
(A) Rs 4 (B)Rs 3 (C)Rs 8 (D) Rs 4.5 Direction (79-81) Study the following information to answer the
- 2 given question.
General Intelligence and Reasoning
71.  Find missing number in given figure? For a certain code,
“RRB Grp has come” is written as “hfo hla hbu hna”,
19 | 27 |24 “come worst has been displayed” is written as “hjo hke
24 | 39 (34 hla hsi hna”,
13 118 [16 “RRB Prepare displayed too” is written as “hya hsi hbu
271|525 ? hzo” and
- “Prepare for come worst” is written as “hna hya hgo
(A) 529 (B) 418 (C) 287 (D) 352 hke".
Direction (72-74) In the following question below are given, 79.  What s the code of “Grp” ?
some statement followed by some conclusion taking the (A) hjo (B) hla
given statement to be true even if they seem to be at (C) hbu (D) Cannot be determined
variance from commonly known facts, read all
conclusion and then decide which of the following 80.  Give suitable word for “hjo” ?
conclusion logically follow the given statement. (A) displayed (B) Come
(A) Only conclusion | follow (B) Only conclusion Il follow (C) been (D) None of these

(C) Both conclusion follow (D) None follow
81.  What is the code for “displayed too” ?

Direction (72-74) Statement: Some J are H. Some H are |. (A) hke hya (B) hzo hbu (C) hya hna (D) his hzo
Some J are not L. NoLisT.
All B are K. No | is B. Direction (82-84) In the following questions select the related

word / number from given alternatives.
72. Conclusion: (I) Some B are not H.
(1) All | are K is a possibility. 82. GREAT: MWIDV :: WORKS : ?
(A) BUMNU (B) CTVNU (C)DVVMV (D) CUWNU
73.  Conclusion: (I) All H are B.

(1) Some | are not L is a possibility. 83. 34:91:42:7
(A) 107 (B) 128 (C) 189 (D) 99
74. Conclusion: (I) Some J are not | .
() All K are B. 84. Nephrology : Kidney :: Eccrinology : ?
(A) Secretions (B) Moon
75.  Find number of triangle in given figure? (C) Amphibians (D) Earthquate

Direction (85-86) Choose the Venn diagram which best illus-
trates the three given classes in each of the following

questions?
QO
(B) O

85.  Polygon, Square, Rectangle.

(A) 15 (B) 16 (C)17 (D) 18 (A)

76.  Which one set of letters when sequentially placed at the
gaps in he given letter series shall complete it?
b-ac-cc-cb-ab-ac
(A)aabba  (B)abcabc (C)abbbc (D) abbabc (©

©©

Direction (77-78) Study the following information to answer the
given questions. 86. Week, Day, Year.
Aadarsh starts walking from point P towards east
direction. After walking 5 m he turns to the left and walks
3m. From there he turns to the right and walks 4m.
Thereafter he turns to the right and walks 7m. Then he
turns to the right and walks 12 m and stops at point Q.

Direction (87-88) Study the following information to answer the
given questions.

(A) If the data in statement | alove are sufficient to
answer the question, while the data in statement Il alove
are not sufficient to answer the question.
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(B) If the data in statement Il alone are sufficient to
answer the question while the data in statement | alone
are not sufficient to answer the question.

(C) If the data in both the statement | and Il together are
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(1) Only conclusion | follow (2) Only conclusion Il follow
(3) Both conclusion follow (4) None follow
(5) If either conclusion | or |l follows

necessary to answer the question. 92. Statements: T<M=<J=R>F>S;M>L

(D) If data in both the statement | and Il together are not Conclusions: . R>T . J>R
sufficient to answer the question.

In the given question a relationship shows between 93. Statements: H>S=2F=BsU<T;E<B=sK
different elements. After the statement, four conclusions Conclusions: .Sz E I.U>H

are given. You have to decide which of the following

conclusion definitely follows the given statements. 94. Statements: T<M<J=R2F>S;M>L

Conclusions: . T<R I.J>8

87. Eshaan, Fardeen, Girdhar, Humza, Imran and Jagjit are
sitting in a circular table. How many persons are facing Direction (95-98) Study the following information carefully and
opposite to the centre? answer the given questions:
I. Only two persons sit between Fardeen and Girdhar.
Humza, who is not an immediate neighbour of Fardeen, Seven Students Arunav, Birendra, Chanakya, Piyush,
sits immediate left of Jagjit. Qasim, Rajendra and Sushil plays different games from
Il. Eshaan sits second to the left of Fardeen. Jagijit is not Monday to Sunday. The different games are Hockey,
an immediate neighbour of Eshaan but faces inside the Cricket, Badminton, Archery, Golf, Football and Tennis,
centre. Imran faces inside the centre. but not necessarily in the same order. Chanakya plays
Cricket and not more than two students plays after
88. What is the distance between point P and point T? Chanakya. Sushil plays on Wednesday but not Football.

I. Point P is 2m west of point Q. Point R is 13m south of
point S which is 13 north of T.

Il. Point Q is 3m east of point P and Point R is 6m north
of point Q. Point T is 6m north of S, which is 2m east of
R.

Rajendra plays Badminton but before the one who plays
Hockey. Piyush plays just before Birendra, who plays
Golf. Qasim plays Tennis after Chanakya. Piyush does
not plays on Thursday. Arunav neither plays on Friday
nor Sunday.

Direction (89-91) Read following information carefully and 95.  Which game Sushil play?
answer given question? (A) Golf (B) Cricket  (C) Hockey (D) Archery
“P = Q" means “P is wife of Q”
“P - Q" means “P is Husband of Q” 96.  Which game is played on Friday?
“P @ Q" means “P is sister of Q” (A) Badminton (B) Tennis
“P % Q" means “P is mother of Q" (C) Cricket (D) None of these
“P* Q" means “P is father of Q"
“P + Q" means “P is son of Q” 97.  Which game is played immediately after Football?
“P © Q" means “P is daughter of Q" (A) Archery (B) Hockey (C) Tennis (D) Golf
“P $ Q" means “P is brother of Q”
98.  Which game is played last?
89. Q@L+G-S, K-V%G$M, FSUOT-M (A) Tennis (B) Golf
How V related to T? (C) Badminton (D) Cricket
(A) Mother (B) Mother-in-law
(C) Daughter-in-law (D) Sister-in-law Direction (99-100) Study the following information carefully to
answer the question given below.
90. Q@L+G-S, K-V%G$M, FSUOT-M YO6G8MS#9@2$ZOT *P&L%X5NJS1C
How Q related to V? 6AR8U9JSBF
(A) Daughter (B) Daughter-in-law
(C) Grand Daughter (D) Cannot be determined 99. How many such symbols are there in the above
arrangement which is immediately preceded by a
91. Q@L+G-S, K-V%G$M, FSUOT-M number and followed by an alphabet?
How M related to F? (A) None (B) Two (C) Three (D) One
(A) Mother (B) Mother-in-law
(C) Daughter (D) Doughter-in-law 100. What is the position of “#” in the above arrangement?
(A) 17" from right end (B) 7t from left end
Direction (92-94) In the given question a relationship shows (C) 7" to the left of N (D) None of these
between different elements.
After the statement, four conclusions are given. You
have to decide which of the following conclusion
definitely follows the given statements.
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